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Part A
Answers all questions on this paper itself.

- o, per annum. Find the
(01) A person' got a loan of Rs. 50,000 with the simple interest rate 8% P

interest amount should pay after 2 years.

(02) Find factors 49-x°.

(03) ShadetheregionA'inthe given Venn diagram.

(04) Findthevalueof x.

A
= B
, CZ

| (05) Inthe given PQRS parallelogram QS = 8cm. Find the area of PQRS.

% 3
(06) If 5.5°=30.25, 5.6'=31.36, 5.7°=32.49, find (he first approximation of Va1

(07) Findthevalueofa, —————
P

55¢
Q !NN

gy RTg g |

02.
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(08) Solve (x-5)(x+2)=0

(09) The length of cylindrical Shape;d
a block of wood with the di - .
curved surface area ofit. with the diameter 35cm is 1m. Find the

(Surface area of a cylinder with the radius 'r' and height h'is 2 h. Take =22 )
7

(10) Solve 4.1=7

i

(11) Center of the given circle is O. Find the value of x.

X,
&/

(12) Selectand underline the continuous data.

(a) Speedofavehicle

(b) Distance betweentwo cities.

(¢) Numberof letters receivedtoan office during a day.
(d) Time spenttodostudiesbya student.

(13) Fivemencan finish 3 ofa work during 4days. How many days will it take to finish the
complete work with 10 men?

; A
(14) If a+b=110°, a+c=120"inthe given diagram find the value of PQR

Q

-03- G‘l’a@elﬂ-mﬂhsl-WamPrwincc



(15) Find the gradient of the line which passes through the points (2,1) and (3,1)

(16) In the given figure PQ is a light house and A and B are two boats. A person in the boat A
observes the top of the light house Q with the angle of elevation is 25", Aperson who is at
Q observes the boat B with the angle of depression 32°. Mark these data on the given
diagram. (Neglect the height of observers ) Q

(17) Write the value of'a'asapowerof3. Jlog,a=4

(18) Centerofthe given circle is O. Find the value of a.

(19) If5x-4y=9,x-2y=3, find the value of (x-y) without solving the equations.

(20) In ABC triangle the bisectors of ABC and ACB meet at O.If BAC= 70°, find the value
of BOC

A

C

o Crade 10 - maths | - Western Provinge
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(21) Simpl Ao Rt LT
plify 3¢ 24x

(22) There are 6 identical cards in a box numbered as 1,1,2,2,4,4. When a card is taken out
randomly write the probability of getting a card with a perfect square number.

b}

(23) The arc length of the given sector is 22cm. If the perimeter of the sector is 50cm, find the
valueof r. A

-

0 - B

A
(24) The centre of the given circle is O. If BDC =40’ and PD =CD, find the value of a.
B

VA

P\ O C

V4

D

(25) This diagram shows an incomplete rough sketch of finding the location of D which is
equidistance to sides PQ and QR and equidistance to the point P and Q. Complete the
rough sketch using the remain constructions to find D which is located in the triangle.
Mark the point D.
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Part-B
Answers all questions on this paper it self.

(01)

and removed 10 spoiled mangoes from it.

Samadara plucked mangoes from her garden
tion. The rest is shared

she kept % of the mangoes which is suitable touse for her consump
among her neighbors and her 3 brothers.

(i) Whatis the fraction of mangoes she shared from the mangoes which are suitable
touse?

(i) Ifshe gave % of shared portion to neighbors, what is the fraction of mangoes given to
the neighbors?

"

(iii) If the rest of the mangoes are shared among her brothérs equally, what is the fraction
of the number of mangoes given to a brother out of total number of shared mangoes?

\
b

(iv) The number of mangoes given to a neighbor is 18 more than the number of mangoes

given to a brother. Find the total number of mangoes plucked by Samadara from her
garden. '

(02)

ABCD rectangular land is shown in the figure. Flowers are grown in the shaded portion
and the grass are grown in the rest of the area. The area which is grown flower contain a
rectangular part and a semi circular part with the diameter of 14m. AP=PQ=QB.

(i) Findthe aréa of the semi circular part.

A qD
(ii) Findthearea whichisgrown flower. P /////3/0/>///
Q
(iii) Find tharea which is grown grass, o il
60m C

(iv) To bunld ar fence around the area which grown ﬂowerh for the sake of security it is
costed Rs. 5 000 for 1m. Find the cost have to &pent to build the fence.

()6~ L
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03) Afactory has four sections which are A, B, C anq p, The total number of workers in il

factory is 864. The given pie chart is drawn according to the number of workers in each
section.’

(i) Find the numberofworkersin section A.

(ii) Ifthereare 264 workersinsection C, find the angle of scctor in
section C.

(ii1) The Number of workers in section B is thrice the number of workers in section D.
Find the numbers of workers in section B and D separately. -

(iv) According to the requirement of service of some workers in section B are transferred
to the section D. The angle at the sector of section D after the above changes is 55’ina
new pie chart According to that find the number of workers changed from section B

to section D.

(04) (a) Nimal has a trading business within the administrative domain of a certain urban
council. Rs. 750 has to be paid as quarterly rates for his business of assessed annual
value Rs. 50 000 which lies within the limits of the urban council.

(i) Findtheamount has to be paid as rates fora year.

(i) Find the percentage that the urban council charges as rates.

(b) According to the given table Nimal pays Rs. 52 000 as income tax per annum. Find

his annual income.

Annual Income (Rupees) | Tax percentage
First 500,000/- 0%
Next 500,000/- 49,
Next 500,000/~ 8%

.07 Ginde 10 - mnths T - Westorn Province
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and cricket (C) ina elass.
(i)  Howmany students are participated for both
games?

the above purpose drawn on a grid by Saman.

(i) Describetheincident Abyword. 4

(Second card)
w -~
L |
I I

(§%]
L
T

(05) (a) This incomplete Venn diagram shows the number of students who play football (f)

(i) If19studentsplay cricket how many students play cricket only?

(iif) There are 32 students in the class. Find the probability of a student selected
randomly being not playing any of these two games.

(b) A box contains identical cards numbered as 1,2,3,4,5. One card is taken out
randomly, its number is recorded and then put back in to the box. A card is randomly
taken from the box again and number is recorded. The sample space given below for

Footlball (F)

— Cricket
o (C)

(i1) Findthe probability of getting A.

the event B onthe grid. Find P (B),

(iii) Ifthe event of "sum of both numbers on the card is § or greater than 8" is B mark

[

_E
2 3 +
(First card)

(K-
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<+ Write answers for 10 question by takmg 05 questions from part A and 05 questions ﬁ‘omk
partB

< Each question carries 10 marks.

< Volume ofaright circular cylinder is nr’h when the radius r and height h.

Part- A
Answer 05 questions only.

(01) A frequency distribution containing information on the number of water units used by
40 houses in a housing scheme during a month is given below.

No. of water units

6-10

10-14

14-18

18-22

22-26

26-30

30-34

34-38

No. of houses

2

3

5

6

9

@)

(11)  Find the mean number of water units used by a house during this period.

(iii) "The minimum numbers of water units wanted for this housing scheme is 852 for|
30 days." Do youagree for the above statement? Give reasons.

(02) Gunasiri gota loan of Rs. 45 000 with the simple interest rate of 20% per annum.
After 06 months he paid Rs. 25 000 from the loan and the interest amount for the
total loan for 06 months.

(1) Find the interest amount for the first 06 months.

(ii) - Find thetotal amount he paid after first 06 months.

(iii) Hepaid therest of the loan and the relevant interest amount to finish the loan at the
end of the year. Find the total amount he paid at the end of the year.

(iv) Find the profit or loss gain by Gunasiri by paying the loan in two occasions,

- without payingthe total atonce at the end of the year.

Write the model class of this distribution.

01~ Grade 10 - muoths IT - Western Province




(03) Anincomplete table containing x and y values suitable to draw the graph

function y=6-x" is givenbelow.
X 3] 2] -1 0 ] 2 3

y | -3 s| 6| 5| 2]-3

@ @ Find the value of y when x=-2

the given function on graph paper.

(b)  Using the graph.
(i)  Writethe solution of the equation x’=6

y=x"-6

direction of R from P.

(1) Drawascale diagram for above data by using the scale of
lcmrepresent 6m. '

(ii) Find the height of the tower and the angle of elevation
of the top of the tower from S.

of the quadratic

(i)  Using the standard system of axes and a suitable scale, draw the graph of

(1) Write the interval of values of x for which the function is positive
(c)  Writean equality and inequality between the graph you drew and the graph

(04) This diagram shows PQ vertical tower which is on a flat ground and point R is 30m away
from it. The angle of elevation of the point Q which is on the top of the tower from R is
52°. Awire with the length of 60m is attached to Q from S where S is located in the same

Q

05) (a)  Findthefactors. x’(m-n)+y’(n-m)

they have is equal.

simultaneous equation.

(ii) Bysolvingit find the amount each P and Q had.

(06) Aisasquareand B isarectangle. These statements are given below about Aand B
. Length of aside of Ais (x) cm.
o Lengthofasideof B is4cm less than the length of a side of A,
Width of Bis (x-6) cm.

(by  The amount P had is half of the amount Q had. If Q gives Rs. 10 to P the amount

(i) By taking the amount P had as Rs. X and Q had as Rs. y build up a pair of

e AreaofAis3timesoftheareaof B. A

(i) Show thatxsatisfies the equation x’- 15x436=0

(if) Bysolving the equation in (i) find the value of x.

-02- Cirnde 10 « maths 11 - Westem Province




Part-B .
Answer 05 questions only.

(07) Astudent cuta wire for an activity suchthat the Jen gth of the smallest wire with 12cm and
the difference between two consecutive rest of wires with Scm.
(i)  Findthelengthofthe picce of 10" wire.
(i)  Which picee of wire gives the length 42cm?

(it Find thelength of wire needed to cut 25 pieces of wires,

(08) Use only a pair of compass, a straight edge with cm/mm scale for the following
constructions. Show the constructed lines clearly.

(1)  Construct the triangle ABC such that AB =7cm, BC=9¢m and ABC=60°

- (i)  Construct the perpendicular bisectors of the sides AB and BC. Name the

intersecting point of bisectors as O. ,

(i) Construct the circle with the centre as O and radius a.s OA.

(iv) Join CO and extend it to meet the circle at M. _

(v) By joining the suitable points using straight lines identify a right angled triangle

and name it. Give reasons for your answers.

(09) (a) Write properties of a parallelogram.

(b) ABCDisaparallelogram. Diagonals are
intersectingat O. X and Y points are

; ‘ =
A A
on AC such that ADX =CBY show that '
X
B

DXBY isaparallelogram,

(10) (a) If A=12.74x2.98
16.37

logarithmic tables.

find the value A to the nearest 2™ decimal point using

) (b) The length of the base of one side of the square based cuboidical shaped metal block

is "a" units and height is "h" units. It is melted and made 8 cylinders with the diameter of’

"a" units and height with 24" units without any wastage, Show thath = 4ra
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(11) (a)

(®)

(12) (@)

®)

Centre of the given circleis O. If PR=RQ

(1) Show that PROA=QRO A
(i) ~ Showthat OR and PQ perpendicular.

’ P R <

Centre ofthe circleis Oand A, Band C points are on the circle.

B
Mid pointof ABisD. Show that APD=0R }\
A A

Sunil tossed an unbaised one rupee coin and two rupees coin at once.

(1) Represent all possible out comes on a tree diagram.
(i)  Using the tree diagram find the probability of getting head at least

from one coin.

This Venn diagram shows information about children who are members of a

[ ad

children's society. i =

P— i)
¢ = {Members in the children's society}

P = {Boys in the children's society} m

Q= {Grade 10 students in the children's society}

(i) Describe theregionrepresented by the letter 'm' in words.
(ii) Write theregion represented by the letter'n' in set notation.

(i) By copying the Venn diagram on your answer script, shade the region
PrQ.
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